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Mathematical Literacy P1 NSC June 2016 Common Test

INSTRUCTIONS AND INFORMATION
This question paper consists of THREE questions. Answer ALL the questions.
2. Use ANNEXURE A to answer QUESTION 1.2 and Annexure B to answer question 2.2.

Number the answers correctly according to the numbering sytem used in this question
paper.

4. Start EACH question on a NEW page.

You may use an approved calculator (non-programmable and non-graphical), unless
stated otherwise.

6. Show ALL the calculations clearly.
7. Round ALL the final answers off to TWO decimal places, unless stated otherwise.
Indicate units of measurement, where applicable.

9. Write neatly and legibly.
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QUESTION 1

1.1 Thando decided to buy a new toaster.

He found the advertisement alongside in
a newspapet.

Daily New Clicks advertisement

Study the advertisement and answer the questions that follow:

1.1.1 Calculate the original price of the toaster.
1.1.2 Determine the percentage discount offered on this toaster, using the
formula:
. discount amount
Percentage discount = — - x 100%
original price
1.2 Thando travelled to visit his grandmother. The graph on ANNEXURE A shows his

distance travelled against time.

Study the graph on ANNEXURE A and answer the questions that follow:

1.2.1
1.2.2

1.2.3

1.2.4

Copyright reserved

Write down the time that Thando left home.
State how far away from home was Thando after 30 min.

Write down Thando’s average speed in kilometres per hour. You may use
the graph or the formula:

distance travelledin km

Average speed = —
timeinhours

How long (in hours) did Thando take to drive to his grandmother’s home?
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QUESTION 2

2.1

2.3

Mrs Zimba catered for a function for 450 people. The ratio of children : adults at the
function was 2 3 1.

The adults were served tea while the children were served juice.

Mrs Zimba bought concentrated juice to dilute for the children.

2.1.1 Show that 300 children attended the function.
2.1.2 Calculate the number of adults at the function.
2.1.3 The dilution factor on the concentrated juice indicate 1 : 5 ( that is one

part juice to five parts water)

(a) Calculate how many litres of diluted juice can be made from
1,5 € of concentrated juice.

(b) Determine how many servings of 200 ml’, juice can be served
from 5 £ of diluted juice.

' Mis Zimba received the invoice for goods she ordered for the catering of the function.

The invoice is provided on ANNEXURE B.
Study the invoice and answer the questions that follow.

22.1 State the date on which Mrs Zimba placed her order.
2.2.2 Determine the missing values A, B and C on the invoice.
223 Calculate how many days does Mrs Zimba have to settle the bill.

Mrs Zimba decorated the cakes she made for the function with red, green and yellow
smarties.
One box of smarties contained 10 red, 12 yellow and 18 green smarties only. Mrs

Zimba placed them in a bowl. Mrs Zimba placed her hand in the nowl and pulled out a
smartie.

Determine the probability that the smartie selected was:
2.3.1 red

232 white - -
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QUESTION 3

3.1

3.2

June 2016 Common Test

Sketched alongside is a scale drawing of
a shirt given as a gift.

The scale used to sketch the shirt is
1:20

3.1.1 Explain what the scale used to sketch the shirt means. (2)
3.1.2 The length of the back of shirt on the drawing is 2,5 cm.
Calculate the actual length of the back of the shirt. 2)
3.1.3 The shirt was packed in a box with
dimensions;
e length=30cm
o breath =20 cm
e height=8 cm
< length breadth
Calculate the surface area of the box using the formula:
Surface area of a rectangular prism
= 2( length x breadth + length X height + breadth X height) (5)
The bow used as decoration on the gift
box cost R24,99 and there are 8 bows in
the box.
()
Calculate the unit price of the bow. [11]
TOTAL: [50]
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ANNEXURE B

QUESTION 2.2

NSC

June 2016 Common Test

Metro 'Wholesalers

[PO BOX 1234 Durban 4000]
[Phone: 031 567 6767] [Fax:031 567.6768]
[metrowholesalers@gmail.com]

Billed To:

Mrs Zimba
Zimba Caterers
PO BOX 64
Umlazi

Durban

Paymént due Date : 31 March 2016

Invoice Num: 1002345

Invoice Date : 24 March 2016

100g smarties

10 kg flour R89,99 11 R89,99

1 kg margarine R42,99° 2 A

2,5 dozen eggs R39,99 1 R39,99

6 pack Long life milk R59,99 1 | R59,99
R12,99 'B ' R38,97

Total Due: | C

M Pather
Clerk

Thank You for Your Business!

24 March 2016
Date
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ANNEXURE A

QUESTION 1.2

DISTANCE TRAVELLED AGAINST TIME
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Distance in km
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TEAR-OGFF SHEET

30

20

10

% 07:00 07:15 07:30 07:45 08:00 08:15 08:30 08:45 09:00

Time

Copyright reserved






J9A0 U] 9SBS[J paassar ySrkdon
[p1l
(@]
Aquo Iomsue DY DAL, SWOUT| PTI
4
©
uoneoydus Vo1 Vo, WERI09=
10}EUTIOTEp HYT OUA U0 _ s oBusony
IOJRISTINY D] uny ¢
% .rre
m TUO Jomste [yye DIApA o9t Tl
: [4!
(@]
Afmo Jomsme HYZ DI rr wHOE| TTI
17
@
ATmo 1omsue D7 DIsrp 00:L0) ITT
11
* S[IBW [[1) AUO JOMSTY
Vo woEEE =
© d
woreogrduns VoI WArse'6v T
%001 X — =
CT'1 Wox souea Vo1 otk
wonymnsqns Wi
a3rxd fem3Lio e
%001 X Soud parinoostp JunodsIp 98w usdIag —
4 [4!
b @
, SYTeW [y AJUO JAMSTY _
aonnjos Vi .
v 666VIE=
sonjeA . .
1051100 SUIPPE /AL VINA 00059 + 66'668 =ud [eUIBHO | T'T']
17
PAsY uonjeuejdxsf uonnjog sand)
r1] 1 NOLLSHNO
[4
1531, UOWIIO)) 90T Sunf OSN 1d AoeIelr] [eoURmOmEN

S

JOAO TLHY} 98BI paatesar JgSukdo)
saded G JO S)SISHOO WNPULIOTIOT SH J,
syem Sumgruio YO smpunol 1oy Ajjenad ON aN
i B0 Swmpunoy ¥
918 O SUIPUNOIIoeLIoou] syun ou 103 ‘S ‘Areusg d
wordQ [4)
weld & YO dew e YO wexddep 8 YO Gdels & YO 9[qRl B Wog Supesy [it:d
uonesiTdung S
B[(IULIO] USALS © OJUI UOHINSqNS aS
urefdXF/UoSeay/UonEo SNy r
1 UOISIPATOD) 6}
AoBmooy v
A2emdoy JUSISISUOD) A\7e)
Aoemady PIM PO VIN
PO W
woneue[dXy sapo)
08 *SSRAVIAL
0T HAVID
HLVIIALLIAD YOINES
TTVNOLLVN
é\slll......_.||....|||||||||......_.|||||..||..||||..|_.| n:/—/
n n
x NAANVIOINWIIAL .
"
- u
n 9107 ANNL v
[} u
w u
_,“ 1d ADVHALIT TVOLLVINHHLVIAL b
- ”

L S 2 5 2 5 R 2 SRS EE RSN EERSESSEESESSEESERSERERRE S Ry

<O_mn_¢ HL1NOS 40 OInand3d
uoneosnpg oiseg Jo Juawiedaq [BIEN-NINZEMY

uoneosnpg oiseg




- y F

e

poatesar 1ySuAdo

i
)
§

IOAO W) 952A[d poarasa1 ySukde]
Isd
@
wopn|os vz VAo 0RZEO 0=(WM | TET
71 . .
© %STI0 STO 10
somsue peyrduns v A ¥ _ o _
I 1
v .
JOJBUTHIOUSP V' 8T+ 1 +01 - podd|
IOTRISTNY V'] v \oﬁ TET
€1
(@)
oMSTR V] _ _
wonoengns Wi V. SKEp L M,W\N, 1€ €T
1T
©)]
woneogIduts YOI VO, EHIEE=
UOMPPEINL | /630 + 66°65U + 666 + 86'STA + 6668 = D
VA& o=
uoreogTdus V1
UOISIATD [T - MMMM —g
) v 86684 =
goryesrrduns V1 ~ .
VINA 66THL x T=V| TTT
1T uogeondHnt Y
@ _
Jomsue g A/ 9T0T PEW ¥ 1T
1T - -
1PA9] uonBuB[dXH uoynjos sonQ)
4
159, WOWIIOD) §THT SUnf oSN 1d Aow1e)l'] [EOURIISHIEI

JoA0 ) 95BI[d
T® S
woreogrduns vOT | VO, §C =
: WA 00¢ = oomf Jo s3uTAIss IoquanN
Suptap WI 000 &
| . | @
TOISISATIOO )] o4 JmEo0sS =35 | €1T
(4!
T® : _
woreogrduds VO T VOor 6=
7 6T+ 3 §°L =9om{ panIIp JO SAI] JO IDGUMN
Burppe W1 WA
VN, FSL=
oner VNI 1 ST x G = Idjem JO JUNOMY ®
! ©
7 1 = oom{ porenua0uOd JO SaNY JO PqUIN | €'1°T
(4!
@
ST [[nJ A{H0 IoMSUY
pasn Vo, 0s1 =
SSMI[BA JO91I00 YN L .4\2\, 00€ — 0Sy = synpejo loquN [ T'IC
17
00 =
@
, VA c
0SYy X — = USIP[IYD JO ISqUINN
IOJBUTHOUSP V'] VINA (4
1doou0d onrr VIATL 11e
1T .
P woneue[dxy uonnjos sand)
‘[s7] T NOLLSHAO
c ,
159.[, UOTITIOY) 9T 07, OUR{ OSN 1d AoeIaq1'] [eolRwSE




posesar yBuAdoD

0S: TVLOL
[x1l
@ ‘
IoMSTR T v =
VIR .|”w| = ooud jupy X
Surpiarp VNI 66704 : (43
I'T
(O]
JTUn 1931100 V1
wonn[os vO1 VA 0000C =
Vor
2000 IxT =
noReoyIduns V1 VA (0091 + (00 0PT + 00 009) T =
PISIL SANTBA JOSII0D '] (W0 § x WO (7 + WO § X U € 4+ WO O x WO )T =
uonmnsqns W1 VA WA
1 wispxd remSuwedal v Jo Baxe 0S| ¢1°¢
©
wonmnos v VAmgs =
1daow09 9Tos AT 07 x WO §°7 = Yosuown ¢z | TT1°E
Wa
'l
@ Var W
worjene[dxs (7 [ea1 ur wo (7 sjuasardar voexSerp oy wo wo [ AeAag | I'T°E
11
15 | uwopyene[dxy uonnjos sand)
[11] € NOILSENO
S
1531, UOIWIOD) 910 SV 2SN 1d Aoeron] [eoHRWSRIN

i
e

B «




.‘»
¥

)
¥




